
B.A. Part-III, Political Science (Hons) 

Multiple Choice Questions (MCQs) along with the 

answers 
………………………………………………………………………………………………………………….. 

 

Q.01. Which of the following is Not a permanent member of Security Council? 
A) France 

B) China 

C) Germany 

D) United Kingdom 

Ans: (C) 

 

  Q.02. The UN day is celebrated every year on: 
A) 24

th
 September 

B) 28
th

 September 

C) 24
th

 October 

D) 28
th

 October 

Ans: (C) 
 

Q.03. The Head office of International Labor organization is situated at: 
A) Paris 

B) Geneva 

C) New York 

D) The Hague 

Ans: (B) 

 

Q.04. Which of the following is world’s centre for co-operation in the nuclear field? 
      A) ILO 

      B) IAEA 

      C) CTBTO 

      D) ICAO 

Ans: (B) 

 

 

Q.05. Find out the correct statement/statements about the secretary-general of the 

United Nations: 

1. The Secretary-General is the "chief administrative officer" of the UN  

2. The Secretary-General is appointed by the General Assembly upon the 

recommendation of the Security Council 

Choose from the following options: 

A) Only 1 

B) Only 2 

C) Both 1 and 2 



D) None of the above 

Ans (C) 

 

Q.06. Find out the correct statement/statements about Countries Contribution to UN: 

1. United States of America contributes the highest 

2. Japan contributes the second highest  

Choose from the following options: 

A) Only 1 

B) Only 2 

C) Both 1 and 2 

D) None of the above 

Ans (C) 

 

Q.07. Who is the current secretary-general of the United Nations: 

A)  António Guterres 

B) Ban Ki-moon 

C) Jorge Sampaio 
D) Filippo Grandi 

Ans (A) 

 

Q.08.  Find out the correct statement/statements about the key issues of the reform of 

the UNSC:  

A) The question of the veto held by the five permanent members, 

B) Regional representation,  

C) The size of an enlarged Council and its working methods 

D) All of the above 

Ans (D) 

 

Q.09.  Which of the following is Not True about India and the UN: 

 

A) India- among the founding member of the UN 

B) Forefront in the fight against apartheid 

C) Championed the cause of nuclear disarmament and non-proliferation 

D) India is the second largest contributor to the UN peacekeeping operations 

Ans (D) 

 

Q.10.  Which of the following is/are the correct match: 



1) BIMSTEC:   The Bay of Bengal Initiative for Multi-Sectoral Technical and Economic 

Cooperation 

2) IORA:         The Indian Ocean Rim Association 

3) NATO:        The North Atlantic Treaty Organization 

4) OBOR:        One Belt One Road 

 

Choose from the following options: 

A) Only 1 

B) Only 2 

C) Both 1 and 2  

D) All of the above  

Ans (D) 
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